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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 4944 3.3 1.5 5 66 98.7
2 4917 8.1 3.5 12 67.8 98.1
3 4829 3 2.2 6 49.3 96.4
4 4914 6.3 3 10 63.2 98.1
5 4703 3.3 2.3 8 41.3 93.8
6 4862 9 3.5 12 75.3 97
7 4707 2.8 1.8 6 46.7 93.9
8 4728 6.3 3.3 10 62.7 94.3
9 4383 2 2 6 32.7 87.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2.

 

(c) Find all values of φ in the range 0° X φ X 360° satisfying

[3]
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7 10 0cos sin .φ φ– =





Sticky Note
Totally incorrect algebraic manipulation.



2.



2.

M1 A0 A0

Sticky Note
The work is correct up to this point.



2.



2.

0

Sticky Note
A further example of incorrect algebra.
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5. A geometric series has first term a and common ratio r. The sum of the second and third terms
of the series is – 216. The sum of the fifth and sixth terms of the series is 8.

	 (a)	 Prove that               .	 [5]
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r = – 1
3





B1

B1

A0

A0

M0

Sticky Note
This candidate has cancelled ar with ar4 to give ar3 and then cancelled ar2 with ar5 to give ar3 again.





B1

B1

M0

A0

A0

Sticky Note
After correctly factorising out the a, the candidate then adds r 4 and r 5 to give r 9 and r and r 2 to give r 3. Finally, he/she divides r 9 by r 3 to give r 3.





Sticky Note
It is difficult to work out what the candidate has done from here on.



4

7. (a)	 Solve the equation

[3] Show your working and give your answer correct to three decimal places. 
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3 7
5
4 2x – = .





Sticky Note
An interesting method of solution.





M1

A1

A0

Sticky Note
The candidate has multiplied throughout by 4 incorrectly.





Sticky Note
5x - 2 has become 5x - 2 .
   4                          4 
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2. (c) Correct use of sin  = tan  (o.e.) M1 


cos  


tan  = 10       A1 


  7 


 = 55°, 235° (f.t tan  = a) B1 
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5. (a) ar + ar
2
 = – 216 B1 


ar
4
 + ar


5
 = 8 B1 


A correct method for solving the candidate’s equations simultaneously 


e,g multiplying the first equation by r
3
 and subtracting


or eliminating a and (1 + r) M1 


– 216r
3
 = 8          (o.e.)  A1 


r = – 
1
/3 (convincing) A1 
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7. (a) Either:  


(5x/4 – 2) log 103 = log 10 7 


(taking logs on both sides and using the power law) M1 


5x  = (log 10 7 + 2 log 10 3) A1 


4      log 10 3 


x = 3·017                  (f.t. one slip, see below) A1 


Or: 


5x/4 – 2 = log 3 7            (rewriting as a log equation) M1 


5x/4 = log 3 7 + 2 A1 


x = 3·017       (f.t. one slip, see below) A1 


Note: an answer of x = – 0·183 from 5x  =  (log 10 7 – 2 log 10 3) 


4 log 10 3 


earns M1 A0 A1   


an answer of x =  0·183 from 5x  =  (2 log 10 3 – log 10 7) 


4 log 10 3 


earns M1 A0 A1  


Note: Answer only with no working earns 0 marks 
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